Pythagorean Theorem: Station #2
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A 35-foot cable, attached to the top of a telephone
pole keeps the pole from leaning. The stake for the
cable is set in the ground 21 feet away from the
base of the pole, as shown. How tall is the pole?

A. 30ft

C. 26ft

D.

24 ft

28 ft

35 ft.
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Jeff is on a boat that is 120 yards from a dock. The dock is 50 yards from an island. The dock, island,
and boat make a 90 degree angle. How far is Jeff from the island?

A. 109.1 yards B. 70 yards

C. 119yards D. 57.5 yards
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Jamie put a boat in the water 22 feet
from where her sister Jenny is
standing. The boat has now drifted
down the river on a diagonal about 30
feet. Approximately how far is Jamie
from the bank of the river? Round to
the nearest foot.

A. 20 feet B. 5 feet

C. 36 feet D. 15 feet
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A television camera is mounted on a bank wall in view of the bank's safe. According to the illustration,

what is the distance from the camera to the safe?

12,02 ft

A. 1795 ft B. 10.46 ft

C. 13.40ft D. 179.65 ft
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Tomiko is at home and needs to get to the post office but she
only has enough gas to travel 7 miles. Tomiko's house is 5 miles
from a grocery store, which is 9 miles from the post office. The
post office, Tomiko's house, and the grocery store form a right
triangle. How far is the post office from Tomiko's house, and can
she drive there without running out of gas?

A. No, the post office is 10.2 miles away.
B. No, the post office is 7.5 miles away.

C. Yes, the post offic

s S miles away.

D. Yes, the post offic

6.5 miles away.

Post
Office

9 miles
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A flagpole is 20 feet tall. At 4 p.m. it casts a shadow that is 15 feet long. How far is it from the top of
the flagpole to the end of the shadow?

15 feet

A. 22 feet B. 23 feet

C. 24 feet D. 25 feet
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Solve for x.

10

A. 12.81 B. 4.24

C. 5.38 D. 15.61
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Solve for x.

X 32

15

A. 35.34 B. 4.12

C. 28.27 D. 6.86




